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NAME: Keu
</
Assessment Training Practice #2A
1.) Examine the quadratic function below. Label the graph with parts a —g.
a.) Find the y-intercept (O g)
b.)  What are the different names for the x-intercepts? Zer0. S Q0 é/ S
and Solutions
TS
c)  Find the x-intercept(s) ( A O> A ‘Zé o }
d.) Identify the vertex ((;j; _
L .
e) Isthe vertex a maximum or a minimum? Why’? The, vertex 070 /1; - /> /S

QMINIMUm._ becaust. 1L 18 the, Jowest ,xmwa., 1 Lhe .91 h,
J

f.) Write the equation of the axis of symmetry = 3

g.) Write an equation for this quadratic function @=1ora=-1) (/ = /?; ‘“‘{ ,;:7 g ha ?

()




2.) Examine the quadratic function below. Label the graph with parts a —f.

a.) Find the y-intercept ( O,‘ 3 )

b)  Find the x-intercep(s)Zero(s) root(s) solution(s) (-3.0) ) (| ) 0)
c) Identify the vertex (" / \ M ) )
d) Isthe vertex a maximum or a minimum? Why? T/L} e, Vertex O?D ( [, ﬂ /S _Q

mazximum becouses 1t 18 The, hiahest point on the araph
e.)  Write the equation of the axis of symmetry X= / v

e
f.) Write an equation for this quadratic function (a =1 ora = -1) (/ff' - K/O‘ —A 4t 3

v

L1 1
T 1 ¥

}
T

L b d
Ftt

N ;
TR T I T A
1
T

i
)

\/?{J: ”{ : %4 Q 4 ff\
/S 0T OyummeU
% (,"/ Y ‘\,7




3) Examine the quadratic function below. Label the graph with parts a —f.
a.) Find the y-intercept ( O 13 >

/ 2 1)
b.) Find the x-intercept(s)/Zero(s)/ root(s)/ solution(s) (/ ) O> ( U/

\
7 / -

c.) Identify the vertex ((;Z

d.) Is the vertex a maximum or a minimum? Why? Tﬂto \/Uf’ LEX ¢ 7[ (0/2 > /S d
Mazormim beCause Mmﬁdm@bwh“zﬁme@wﬂwq&pﬁ
e.) Write the equation of the axis of symmetry X - 02/

- ! fﬂs o i VN
f.) Write an equation for this quadratic function (a =1 ora =-1) f= - ;%i § Xx QE
VA, o /

V. ) V- 4 b Q. ;

} C'?“f f‘x,} [ { i

(/‘[{ ~ ‘ (\ g .

e & e s - e R . Lk

==K =A% A2 47> T R .

i " " U A N U S S

Ejj »@@SWW(K CAR] T IN A |

Y 4 ¥ |
987 554321 “3\45 6 7891

fVat

14 /ﬁéﬁf{,@ﬁi |

Nk




4.) Examine the quadratic function below. Label the graph with parts a —f.
~ ~ ,}

a.) Find the y-intercept ( U; ) /

)

b.) Find the x-intercept(s)/Zero(s)/ root(s)/ solution(s) ( el O) (/ m

!
c.) Identify the vertex ( —l T /7/

d.) Is the vertex a maximum oraminimum'7 Why'7 ; f‘*w \/f\oﬁu %e (}T // 7)/5 O
minimim hecause, (L 15 the, /{m: < ;dfiﬂf’?f (W? Z”/‘ f“z:ﬁ oh.

e.)  Write the equation of the axis of symmetry XJ -

_ o X -
f.) Write an equation for this quadratic function @a=1ora=-1) _ (/ - e %&2% 3

C/

y- @( /v/f“fb M

]

|

= -

| (5 netr
%/ﬁu“f /??FL,Z;V!



Factor each expression for 5 — 8.

5) ec+a-o¢  (r(UF J;}Q

2 .3 {
I (20 + -3
6.) 49 - 144

Tr QT (7/““5'/55)(7/w W’/O?J

oy -2y - 112 (7 F

g(ﬂ“ Y- 6@ | g(j 8)@ 7)

8.) 12d? - 8d + 1

20 - .
!"”””“'ff ““““““ _ @/;F; (Ad - /> ( Gd =1 >
| |

IS T —

9.) Explain what can be determined by looking at each form of a quadratic function.
a.) Standardform y = ax®* + bx + ¢
ILn the, Standard 7%/‘/?7}, “he, value of ¢
LeOrCSENLS e (f ~intercent

{
N’

b.) Factoredform y = a(x - p){x - Q)

1n u“w thetored form . cion SET X 0 = =0 and X-2:=0
Salve, tir Ve :mu/@ “0 %zf(?x// Z‘%v (Su /05000 S

f'
S

c) Vertexform y = a(x - h? + k
Ty the, Ve/tey f@ﬁm Ches vertey 1S f@,@m&@/yé&@/

/ﬁ/ (/7 7/<J> 7«‘,, 17/m 20 w’ ’(w‘%}fy (kﬁ/‘ﬁﬂi%&)igx ST
é A T E 1S LoriElen oS 7@% NI EE 1T S

&rﬁb%




The following is a graph of the path of a rocket after it is launched.

Unsaved <= ,

£1()=-16- x*+448- x

HO0o
l
/500
Ho0 -5}0
!3 . . (W ! L 4 N SU—1 d ! (R 3’?-
P

9 T s
e g Time m Seconds n W A
1C P i"“ /Q/ 8 AU f%:’?x A ‘“Q dﬁf

10.)  Explain the real world meaning of the following points. Helght is in feet and timeis in

—_— SV ,’/I /‘/ Y / . /1_;{ a\ L//Zf;? / -
seconds. X = (} X, Ve Y U /e 4 i,}/ S
a-) VerteX (/\Z\&://‘s,zd > /4(/ //(7’/ \/"«/{\ ﬁ(;\\ é/‘)&/ /\Ok« “ /\\,,/ (/(/0\5
/wl // VE L £ R 1A 7T ,éca/o/%z,mz. /A3 // m””éu

b)  x-intercept(s) Ie 0,0) AL Seconds Lhe, rockiet few) Ofeel
(38,00 AL A8 Stconds, ¢he. AT Sl R ’

(7/ Ol LI

11.) What does the x represent in the function?

”/ ﬁ’”‘&/

12a.) How long does it take for the rocket to reach the ground?

A S @&//}”)é”/ 5

12b.) What is the fall time of the rocket?
/&f jﬂ"/mz/}/“



13.)

13))

14a.)

14b.)

15.)

Examine the function below.

*Unsaved —

14
18
20
20
18
14

W 0 N O O | W N = O X

What point is missing from the table?
/ /””} o V u/ 0

How can you find the vertex of this graph?
%j: ""W@M
AR
Find the vertex. Show your work. e vy O <y
(@) mj J’")/ 7ﬁ<a§é§“> - -/(§Z6/> + 7{5
v 9. =t LRE) - Z0.a8
Al
T (
v, - %.8,40.45 )

Explain why you could not see the vertex in the table.
/7‘;u e \/ff?/ 168 CICSEs 1701 EQS/ e 5J 17007 /}7@“\/3
oL one). ThE, 2 valu of ¥ & 18 b tromer f ond 5 S

5

(SO”{V{V,{ f*’/(:/f/akawf\“’/



16.) Graph the function: f(x) = 3x* - 2x - 5
o i g
x| Y A
9 175 [
NN o
s ne el
-.0 |3 Z2lo bl BN i
O |- ~1,07 ;1‘1 1 2.8
~J /
) 5’ «5;}\\ (-10 : REEEEERR }éz R 5 10 >
I M,
e et R P
Lo ©HL2er L £
~ Tidlirei ke 1 /
(7‘{ 3 zj*?:;f?“if };{ .
_____ Verdo X
\/ 31 = +/4 )
5 FYTOTY
Plot the parabola correctly. 10 L !
v S
\/ Label the coordinates of the vertex on the graph. | D
%
If necessary, use the formula. e - PN
V=i e A K g XF3 0 1(3):3(5) A5 )
A o, I /@@ R Ty ‘f)
Ao/ L e Em A
J @3 2 F(3): 3 (6.9
Label the coordinates o% the y-intercept on the graph.
\/ Show the Axis of Symmetry
_L
\/ Write the equation of the Axis of Symmetry. X/ - \j
/ 5
Label the zeros on the graph. _ ™ > < e
( / }O 3 ) O
If necessary, use the quadratic formula. ~
N ey v, 8
X,= ~b=Nb"-7aC "o/ O
~ - DY | I
fc oo %Mwé B %: 4‘2 .................
R / Cﬂ
e 5 . /
- R i y oo s or
% - W or W, /-}L/ &



17.)  Graph the function: f(x) = -x* + 4 i
X y )
- = U - ineiiCenty
J ®) o 2N ) J o
. 7 4 \.), E’
A0 (0,1 Ze
o7 [ Ama RS I
£ o f}; E \‘:/ 5(’ " {,e*‘g
/ \3 (-10 E{ -E. 7 - 5 -4 i Zas 4 5; k/i: 7 g 10 )
210 .
= NN
i;f L} / 4 2
B |
f’ -6
[
i g’ .
f I & !
Plot the parabola correctly. ! 1o I
1 4
\/ Label the coordinates of the vertex on the graph.
If necessary, use the formula. ?\):“ @

s N
(0,%)
/
v Label the coordinates of the y-intercept on the graph.

v Show the Axis of Symmetry

/ =0
Wirite the equation of the Axis of Symmetry. /\J"‘

\/ Label the roots on the graph.

If necessary, use the quadratic formula.

N -



If necessary, use the formula.
(' A D 7 V
Label the coordinates of the y-intercept on the graph.
Show the Axis of Symmetry

Write the equation of the Axis of Symmetry. A= - g

S ™

Label the solutions on the graph.

If necessary, use the quadratic formula.

(’Oi@> </2O>

18.)  Graph the function: f(x) = x* + 4x - 5 N 2 )
| A Z\
46 ;
ool
. !
X |y .
(o | 7 "
5[0 o]
.= ol
i ) Soluibuon | B |
-3 -8 2 | L Soltipn
) ? W D
-(Q ~Cf (-10 9 -8 .7 5 4 -3 2 s 5 0 )
-1 |- ) ;/
Q wﬁi:j“ ----- '* -j ;'i ....
; ~ \ SV gmtercen
j’\. &7) :5/ Y O‘ - 5/>
; RPNV
J/ L ica,49) e
Plot the parabola correctly. ‘ L 10
/ -y
v Label the coordinates of the vertex on the graph. ;
==



Score: NAME: /{ e,

Assessment Training Practice #3A

1.) Show all your work to find the x-intercept(s)/zero(s)/solution(s) of:

1a) f(x) = (x + 7)(x - 3)

(;m#)(%%ﬁ) =0
2q-| -0 or Xtd <O
201 or kK J

V=5, 0 X=-3)

s




1d.)  f(x) = 6x% + 7x - 20

-4 (a?%%ﬁ)‘(j%*/) =0

.,/9\0% (Q/C[@% ”i%ij &QZJ 5“00/“(3%‘“17/:@
16
\ J/@o gox -5 or FU-Y

s S
B ._.._

- -9 /’)%‘,,_i}
Q o K3

(%) “%) 0

1e) f(x) = x* - x - 12

1R
2 0 or Xtd=0
y - or X--3)

1) f0 = 3(4x - 3)(x - 1)
J(‘f’” 3)(/ > - O

/ /u

, SN Y 1/
ﬁl% -/ Qf A

e T RS



2.)  Find the vertex of each function. ldentify if the vertex is a maximum or a minimum.

2a) f(x) = -5(x + 3)?

£(x)- 5(% CVJ ’L %

Vertex: (W&) B kf) @ or  Minimum
ob) f(x) = 2% - 4x + 1 ‘ N«
X, - e %W/ ﬁ g(/) y/+/

2 7 e Q-4
Hr= ~
Vertex: </) B /) Maximum  or Minimum
2¢.) f(x)=3i2£6x—576# b %::w/ “ﬁc/f%@w —~
K ;\5{, Lo F+-G-5
==
Vertex: ( [, 8> Maximum  or
2d.) f(x) = (x-

( L ?)
Vertex: (/% O\ or Minimum

2e) f(x) = x* - [

P(y) - (7/ o

Vertex: /OV\}” /> Maximum  or

2f)  f(x) = (x - 5)% +

3
h K
5)

Vertex: (5 Maximum  or




3.) Find the x-intercept(s) and y-intercept of each function.

3a.) f(x) = x® - 4x + 2 /\)5— %j/f/\/ ) o
%:-b‘fj b*-4qC 7’\ 2,
— =
N

ACL /

YNGR

C V’(}/uk/
T %-2-vT )
x-intercept(s): /C (QJ 9{) L= A / y-intercept: / 9\

3b.) f(x) = x* + 6x - 16

Ve ~ ’ s -~ - ;{f«\%
Y48-0 or Xal=Y

~ LT
-8 or T2

C valut,

x-intercept(s): % i .,~8 ) X/ - (Q/ y-intercept: (O)“/ U>

3c.) f(x) = x2 - 2x - 24

C value

x-intercept(s): % - @ \ ?(/ = </Z y-intercept: (O; “AY >



4)

b.)

d.)

What is the vertex of g(x) = (x - 3)* + 27

Vertex: ( (3} ?)ZJD

Which of the following has the same vertex as g(x)? ldentify/show work for the vertex for

each function.

h(x) = -2(x - 32 -2

h@b} 0{@{, ) %wl{’;

Vertex: (ﬁ f{;}\) Same or

fx) = (x + 3)? + 2

%@Q*(K?@ )t L

fb

Vertex: 3 (}\ ,D Same or @

p(x) = X -Zx+11 @ = &;{“C} \3/;" /
S "M N — %:‘; _ = { +
~ A0 LT3 i ? 8

\
Vertex: ( c/?)) Q/ ) or Different

40 = (x - 3)x + 2) v
7(/ + QXX U ﬂ(ﬁu
v - dﬂ

02/
L 3o
Vertex: o?; o Same or @

<5) @Q\Q)

J 7
J




o1
g 4

e.)

Different

Same or

Vertex: ('"(3\ :Q)

f.)

891

7

E ] i ]
_\Ll\&\l._. i 1

oo

1 o g

}
€O I A0 D D O v

T

-

9-876-5-4-3-217T1 234586

P T I
3t
B! R O
o
‘;_5._-_
T
’_2,,8,,_..
-a.-
20

Different

or

; Q/v

Vertex: ( 7




5.) Determine the number of real number solutions for the following quadratic function. Show the

solutions on the graph. Explain how you know the number of real number solutions.

Tf‘%f“:: are oo
~INGErtepts 0N the

904 /@/» ‘j"/\'t"??/b&f‘ e, Lhere,

C?/“u A /’*8@ NUMbEr
So/L1I0Nés.

6.) Determine the number of real number solutions for the following quadratic function. Show the

solutions on the graph. Explain how you know the number of real number solutions.

There, 1S | X-mte reept e
on the. (fm,o% Lheredore, |
O‘)JQ% /O 531/ /‘umm@ﬁ

Solution.

)

(272
LB e

i




7.) Determine the number of real number solutions for the following quadratic function. Show the

solutions on the graph. Explain how you know the number of real number solutions.

There, are, No

Xmintercenhs on the,
Qra oh theredore. Lhere,
are._ O real number
SOIuCions. |
lhere, are o
//*}'“}i'}f?ff”}g?/’-‘é{ &O/Uézfii?/?é ; --2,_ L
&,wj; \_/l R ,‘3’
e i i et
-5
5
7
g
el o]
8.) Find the roots of 4x* - 15 = 9 Show all work! Round answers to the nearest

hundredth if necessary.




9.) Find the zeros of 22 + 6z - 27 = 0 Show all work! Round answers to the nearest

&’ / '[5*},, u hundredth if necessary.
L, Kmhiighe
{?‘adwf
(-3 -
Y- -GN FT R 4 K= G
A -/ @0(/_/
— I v -
e / Ié e
5 // Y =3
% = @f e, \/// %: wé’l;{z\,

X =9 e

10.) Solve the equation: ¢ - 3¢ = 0 Show ail work! Round answers to the nearest
0 - t hundredth if necessary.

v

)

h ="

vy
¢, =0




11))

12.)

Solve: 10x° - 7x = 33

Show all work! Round answers to the nearest

-33 -33 .
hundredth if necessary.

107 7% -33 =0
10 Y=o ApT-Hal ]
/ A0

A K= 7:.:37

Find all the zeros of: 2x*> + 15x + 28 = 0

Show all work! Round answers to the

nearest hundredth if necessary.

I



13))

&j:

e

0

14.)

i

Find the roots of: 2x2 - 7x - 13 = 0

-7

43 w- TEIT-FA 3

Solve: 6x> + 13x + 6 = 0

eV

A

T,
Y

<

Show all work! Round answers to
J——

[ g /o
&) % = - b L Y{:}ﬁ }\/C? (_ nearest hundredth if necessary.

e — At

= e
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gt

2, =~ 13 % GGG
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7371

Show all work! Round answers to

i

+ \/ bg -4/ nearest hundredth if necessary.
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Score: NAME: K@ ff//
v,
Assessment Training Practice #4A

Directions: Find the sum, difference or product of each for #1 - 12.

1.) (4x? - 5x) — 2x(2x - 3x + 3)

(&%5‘“ 5%) + =AW (5??0 J%“’Lﬁ)
-5 F - %%j+gﬁﬁ %
CSif ' JOXA — 1170

2)  (@Bp-7(3p+4) TN

Sp_ -] 93 - 9p -a8 )
1p*| Al

FR———

29

3) (6B-3x)+(*-x+5)

@w%fw%“ﬁéﬂi
4)

“;gﬁj’m (:? ‘+Qw* 85
92 \;zﬂ){ém \ \j




6) (n*+2n-1)+(5n-n*-4)

55}7/’7»/7‘*&57/)“‘/7% /%

W,
o

Ry

8) (4h*- 5)(5h2—-6)

dhe -

.....N,_«

[ —— y _ e
sh* |dohT |- 5/400 @ 794 mo/

_.".m"..w,_.zw_,mmw——/

wlax? 1907 [ % |
- b%ﬁ x| -4 &1 S
10.)  (-4x% + 5x — 8) + (-x* + 3x + B)
R VICy By AR AR IR
Coné + 81 -0

11.)  (2x* —3x — 3) — (-6x° + 3x + 8)

21303+ —-/(’-@9f%5?w8) ——
g/é ”5:}6 J ‘f“CﬂLm 1\3//2“; ? OO%

~OX - //

MWM“N‘//



12.)  (3x* + 5x + B)(X — 7)

e L @Gx 1K A I

L.
I

¢ S -~ .‘f;»} - \
2GS )t AEX)
T Fur/0+0L

13a.) Write an expression for the perlmeter of the figure above.
L=+ A0 %6+5) + A(330) = /0 /0
13b.) Write an expression for the area of the figure above. (; M (6%

Adotd (20045 )O0)=Gx IS 27+ 1570)

14.) A 65 inch television is named by the length of the diagonal of the television.

65
inches

Since the angles of the television are right angles, the Pythagorean Theorem can be used

to compare the dimensions to the diagonal: a? + b? = c?. You want to know if your new

television will fit in your existing cabinet. Rearrange the formula to solve for height (a).

2 R / :
CZJ + fc / 2 A
oape [ ICTB

{oZ -7 -6~
o, A b2 /\Cagﬁ@é WW

o

imu,‘wm-—«'"“""”yj

9 O~
BT,




15.)  In accounting, a company’s gross profit rate measures how well the company controls cost

of goods sold to maximize gross profit. The gross profit rate, P, is calculated using the

formula: P = S'S'—C , where S is the net sales and C is the cost of goods sold. Rearrange the
formula to solve for the cost of goods sold (C).
/O = Q;.wgw{w /0\5 = ‘»S - C/
g_S “\S M\S
A%
. & — - U & — posd -
Sp=9C.g A5-5--C
. ~ | =
£S=5-C P55 = C
-5 - O
16.) The surface area, S, of a right circular cylinder is calculated using the formula:
S = 2nr® + 2mrh, where r is the radius of the cylinder and h is the height of the cylinder.

Rearrange the formula to solve for height (h).

S=anrrieanrh ~
/2 S-awre
.

Qr? AT
S-Amwrd = Airrh

AT e o
AT AN I
S-AnrT  _

=z~

17.) If F denotes a temperature in degrees Fahrenheit and C is the same temperature measured

in degrees Celsius, then F and C are related by the equation: F = §C + 32. Rewrite this

equation to solve for C interms of F.

FeFCro2




